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- i (A) (A (A) (A) (A) (A (A) (A (A) (A)
FA4TA VEYE = 9 = 9 = 9 = 9 = 9
Z;;g ZNILLXINILL) 5 128 2138 477| 25 465| - = 455| 25 452| 2 449| ~ 25 7004 ~48.2%
RATE 8=k xs3—k = 0 = 0 = 0 = 0 = 0
333 324 318 316 314
H1-2RREDH 69.8% 69.7% 69.9% 69.9% 70.0%
D<IERE> (BECLLERUVRER HHSERE)
H25 (Ef8) H2 H2 H2 H3 H3
R IR E 5 zara) |HEETREHR ——X= | |aFREHR ——X2 | |aHEREH ——Xg | |aH#FHREHR ——X=z | |alftFtREHR ——Xg | #&I[B] Zl&[A-B]
- - (A) (A (A) (A (A) (A (A) (A (A) (A)
FA4TA VEYEH = 33 = 32 = 31 = 31 = 30
Z:gg ZNILLXINILL) o7y 450 420 1,019 - i 1,001 - 398 975 - 393 952 - L 939 - e ~13.4%
BATE 18—k x/3—F = 5 = 5 = 5 = 5 = 5
564 553 544 528 520
W3~ AFEMREDH 55.4% 55.2% 55.8% 55.5% 55.4%
O<1E5BE> (BECELERUSFHE)
H25 (Ef8) H2 H2 H2 H3 H3
— — aara) |2HEETREHR ——X=E | |aFtREHR ——XE | |aHEFREH ——XE | | REH ——X=z | |alftitREHR ——Xg | #&I[B] z|&[A-B]
(A) (A (A) (A (A) (A) (A) (A (A) (A)
BATC IIEAL X IS—R 5 Ls = 217 = 207 = 197 = 194 = 190
Z:gg %ﬁ%f‘?ﬁf) 1682 939 55.8 1,731| _ 398 1,653| _ 373 1,574/ 353 1,549| _ 348 1,518| _ 345 35.0% 20.8%
BATF |EXEZE = 0 = 0 = 0 = 0 = 0
607 579 551 543 532
35.1% 35.0% 35.0% 35.1% 35.0%
Q<258 %> (H#E)
H25 (Ef8) H2 H2 H2 H3 H3
IR % R zara) |HEETREHR —Xg | |aFREHK =—XE | |aHFHREH =—Xg | |2 EEH =—Xg | |afEFREH ——X=z | #l&lB] #&[A-B]
- e (A) (A) (A) (A) (A) (A (A) (A (A) (A)
RA4TA VEYH = 23 = 22 = 21 = 20 = 20
Z:rrg;g ;ﬂﬁ’if;‘/’f&fzj" 1682 0 0 1,731] - -3 1,653| = 1574| = 1,549 - = 1518| RLEL ~11.5%
BATE 18—k x 15—k = 0 = 0 = 0 = 0 = 0
199 190 181 178 175
11.5% 11.5% 11.5% 11.5% 11.5%
RL28RBE> (BECLLERUVEER)
H25 (Ef8) H2 H2 H2 H3 H3
L%E%I *“Fﬁ%ﬁ %lh%[A] a. *En‘i’)hiéﬂ :—XE a: *ED-fJLE;& :—XE a: *EFI-{-JL,E;& :—fﬁ a: ?ﬁn‘huiﬁl = —f% a?ﬁ%‘l‘ﬁﬁ%ﬂl :—735 %'Jé’[B] %IJé{A_B]
(A) (A) (A) (A) (A) (A) (A) (A) (A) (A)
FA4TA VEYER = 123 = 117 = 111 = 110 = 108
z:g;g ;’:ﬁ’iﬁ‘/’fﬁ;?ﬁj" 1682 718 427 1,731| _ ?gg 1,653| _ ?gg 1,574/ ?;(Z) 1,549| _ ?gg 1518| _ ?ig 49.2% -6.5%
BATE 18—k x 15—k = 0 = 0 = 0 = 0 = 0
851 812 773 762 747
49.2% 49.1% 49.1% 49.2% 49.2%




EimithEBFETCIEEROEDNORAA

ORENEEEE
H25 (£4#&) H27 H28 H29 H30 H31
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- ; (AN) (N) (N) (N) (N) (N) (AN) (AN) (AN) (AN)
BATA DEYER = 69 = 67 = 64 = 63 = 62
BATB TILEZALXTILEA L = 830 = 803 = 773 = 760 = 748 , ot o
BATC TILEA L x 18— 34 L 3,221 115 3119 111 3,004/ _ 107 2,953 _ 105 2,906/ _ 103 31.4% 31.4%
BATE 15—k x 15—k = 0 = 0 = 0 = 0 = 0
1,014 980 944 928 913
31.4% 31.4% 31.4% 31.4% 31.4%
QMBESR RERSEREE (BFE)
H25 (£#§) H27 H28 H29 H3 H3
[ — altit REH e—_—XE altEt REH —_—X= altit REH —_—X= aMtit REH ——X= | |2t REHRK ——XE | Z&lB) Z|&5[A-B]
- . (AN) (AN) (N) (N) (N) (N) (N) (AN) (AN) (AN)
BRATA DEYER = 137 = 138 = 138 = 133 = 127
e e I I s 1 R | A e R
BATE 18—k x/8—Fk = 0 = 0 = 0 = 0 = 0
907 913 915 881 842
49.1% 49.1% 49.2% 49.1% 49.1%
H25 (&) H27 H28 H29 H3 H3
. — alfit REH e——XE | |alfitREH ——X= alf it REH ——Xg | |aifstREH ——X&g | |alEtREH ——Xg | B&[B] Z|&[A-B)
= . (N) (AN) (N) (N) (N) (N) (AN) (AN) (AN) (AN)
BATA DEYE = 48 = 49 = 50 = 53 = 53
BALTB TINEALXTIVEA L = 219 = 223 = 225 = 239 = 240 6 P
BATC TILBA L X IA— 3 A Ls 1,740| _ 22 1,772] _ 126 1,791 _ 148 1,899 _ 157 1,910| _ 758 23.6% 23.6%
BATE 15—k x/15—k = 0 = 0 = 0 = 0 = 0
411 418 423 449 451
23.6% 23.6% 23.6% 23.6% 23.6%
OFETCEMIEETE(Ca—rATA)
H25 (&) H27 H28 H29 H3 H3
I =% alfst REH e——RXE | |alfitREH e——X=E alfst REH e——X=E | |alfstREH e——X=E | |alffitREHK e——X& | BEl&I[B] Z&5[A-B]
(AN) (AH) (N) (AH) (N) (AH) (AN) (ANH) (N) (ANH)
9«(;‘% VEYER = 0 = 0 = 0 = 0 = 0
BATB TILEAALXTILEAA L = 61 = 59 = 57 = 56 = 55
BATC TILEAL X I8—R A L = 0 = 0 = 0 = 0 = 0
Z};g ggg‘%’gw“‘ 3.227 8 3,119 8 3,004 8 2,953 8 2,906 8 1.9% 1.9%
BATE 13—k x 15—k 0 0 0 0 0
BATE 13—k x 15—k 0 0 0 0 0
BATF EH < B = 0 = 0 = 0 = 0 = 0
61 59 57 56 55
1.9% 1.9% 1.9% 1.9% 1.9%
@B FE THIEMAEX
H25 (24&) H27 H28 H29 H3 H3
R a:?ﬁ%(‘l"ﬁ'iﬁ%l e'(:—7\;% aHEs (‘Iu;g e'(:—?(;% a:?ﬁ%(‘l"ﬁjﬁﬁ e'(:—?(;% a:?ﬁ%(ﬂ%“ﬁ%& e——XE | |aftitREH e——XE | FEI[B]) 2|&5[A-B)
A AE A Al A PN A) (AMED) (N) (A[ED)
BATA DEYE = 130 = 128 = 124 = 122 = 121
BATB TILEZALXTILEA Ls = 1,347 = 1,320 = 1,288 = 1,265 = 1,250
BATC TILEA L x 18— 34 L = 318 = 312 = 304 = 299 = 295
BATC IILEAL X 18— A L 1496 242 1 466 237 1430 231 1 404 227 1388 225|  pag 40 _938.4%
247D BEEFRGEEK) ’ 1,528 ' 1,498 ’ 1,461 : 1,434 ’ 1418 0 0
BATE 18—k x/8—F 0 0 0 0 0
BATE 15—k x 15—k 0 0 0 0 0
BATF HEH; x = 0 = 0 = 0 = 0 = 0
3,565 3,495 3,408 3,347 3,309
238.3% 238.4% 238.3% 238.4% 238.4%
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H25 (5248) H27 H28 H29 H30 H31
e zafa) (PHEIREH| | e=—X& | |aHEFREY| | e=—XE | (a#EtREHM| | e=—X8 | |aHEHREY| | e=—RE | oG REH| | e=—XE #l&alBl Zl&a[A-B]
- (AN) (AR) (A) (AH) (A) (AH) (A) (AR) (A) (AH)
BATC TINEAL X IS—F 3L Ly 2,488 2,376 2,263 2,227 2,182
21;2 jﬁfﬁ%ﬁ”_(f) 1731 2'748 1653 2'62(5) 1574 2'508 1549 2'468 1518 241 8 11.5% ~11.5%
BATF R, x SR 0 0 = 0 = 0 0
5,237 5,001 4763 4,687 4,593
302.5% 302.6% 302.6% 302.6% 302.6%
©28BEICXBEHMLH A
H25 (5248) H27 H28 H29 H30 H31
I FI 22 % 215 [A] alf it REH e——X=E | |aMEtREH e——XE atffSHREH| | e=—X= | |aHFAREH| | e=—X= | |aftFHIREHK e——XE | EI&I[B] #&[A-B]
- (AN) (AR) (A) (AH) (A) (AH) (A) (AR) (A) (AH)
BATC TILEA L X 1IS— 3 A Ls 4,737 4,737 4,737 4,737 4,737
347D FEFIHEEK) 18,244 18,244 18,244 18,244 18,244 . -
BATE 18—k x 18—k 1.731 20,162 1653 20,162 1574 20,162 1,549 20,162 1,549 20,162 11.5% 11.5%
BATF R, x SR 0 0 = 0 = 0 0
43144 43144 43143 43,144 43144
2492 4% 2610.0% 2741.0% 2785.3% 2785.3%
@ LELS
H25 (5E48) H27 H28 H29 H30 H31
amsy | meara) [PERTREH| | e=—XE | [a#EHREH| | e=—RXE | ([afEREH| | e=—XE | |a#EREH| | e=—X& | |aHEGREH| | «=—XE #l&(B] Zl&[A-B]
= (AN) (AR) (A) (AH) (A) (AH) (A) (AR) (A) (AH)
BATA VEVE 1,094 1,058 1,019 1,002 1,002
BATB TILAALXTILEA L 11,599 11,208 10,791 10,607 10,607 11.5% ~11.5%
94700 TIVAA L X 18— A La(5 120858 £ + FIREIE ~ 1 208800 — ) 4,451 4,302 4,143 4,073 4,073 ’ ’
9’{700’ TIVEA La X 78— B A Ls (FRSsRE+ TR~ 12050 8) 2,083 2,042 1 ,993 1 ,956 1 ,956
BATD HEIIREK) 1731 5046 3119 4908.42446 3,004 4755 2,953 4671.72825 2,953 4671.72825
9’(7°E IN—b X 78— A 12085R 5Lk + T RIS ~ 120851 D—55) 0 0 0 0 O
g’rjE, 78—b X 78—b (b FRE R + FRE R ~ 12080 — &) 0 0 0 0 0
BATF BEXEE 0 0 = 0 = 0 0
24,273 23,518 22,701 22,309 22,309
1402.3% 754.0% 755.7% 755.5% 755.5%
@R FERRET. 77— R—r o 2—(FER-FER) OB ~5%
H25 (3E4&) H27 H28 H29 H30 H31
I sa[a) |FTHEEIREH e=—X=E | |aMFREH| | e=—X2 | |a#FHREH| | e=—XE | [a#FHREH| | e=—XE | |a#FHREH| | e=—X2 | FEI[B] #l&a[A-B]
" (A) (AH) (A) (AH) (AN) (AH) (AN) (AB) (A) (AB)
BATA DEVYE 428 414 = 399 = 392 386
AATB TINEALXTILEA L 5,355 5,176 = 4,985 = 4,900 4,822 . _ .
BATC TNEALX 51 s 3,227 884 3,119 854 3,004 _ 823 2,953 _ 809 2,906 296 206.6% 206.6%
BATE 18—k x 18—k 0 0 = 0 = 0 0
6,667 6,444 6,207 6,101 6,004
206.6% 206.6% 206.6% 206.6% 206.6%
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H25 (£#8) H27 H28 H29 H30 H31
ey I alfStIREH e—_—XE | |aEtREH e——RX&E aMf It IREH e——XE | |atEtREH e——X=E | |aftitREHK e——XE | El&I[B] Z&[A-B]
(A) (AH) (N) (ANH) (N) (AB) (AN) (AH) (AN) (AH)
BA4TA DEYER = 154 = 0 = 0 = 0 = 0
BATB TILEAL X TILEA L = 696 = 88 = 88 = 84 = 0
BATC TILEALx 18— 34 L = 286 = 0 = 0 = 0 = 81
Zi;g ;;g;j;{ ('9‘&) sl 1,846 igi 1,857 g 1,861 8 1,793 8 1,714 8 4.7% -4.7%
BATE 18—k x/8—Fk 0 0 0 0 0
BATE /5S—kx 15—k 0 0 0 0 0
BATFE HEH < EH = 0 = 0 = 0 = 0 = 0
1,846 88 88 84 81
100.0% 4.7% 4.7% 4.7% 4.7%
H25 (E£#8) H2 H2 H2 H3 H3
E—%E FIEEX a: ?EH-I-JL:Eﬁ e::—f% a: *En‘l’JL.ER& e:_XE a: #EH'I'JL.E%Z e:_zi a: *EH'I'JL.E%I e:_xoi a: *EH-I-JL:E;{& e:—fi %II‘I%.[B] %IJﬁKA_B]
= (A) (AH) (N) (AH) (N) (AH) (AN) (AH) (N) (AH)
BL4TA VEVYER = 0 = 0 = 0 = 0 = 0
BA4TB TILEZALXTILEA L = 82 = 84 = 84 = 89 = 90
BATC TILEAL X 18— 34 L = 0 = 0 = 0 = 0 = 0
Z:g:g %gggg{%—)"@“‘ 1,740 8 1,772 8 1,791 8 1,899 8 1,910 8 4.7% -4.7%
BATE 18—k x 18—k 0 0 0 0 0
BATE 15—k x 15—k 0 0 0 0 0
BATF HEE x EH = 0 = 0 = 0 = 0 = 0
82 84 84 89 90
4.7% 4.7% 4.7% 4.7% 4.7%




